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ECONOMICS
( Honours Core )
Paper : ECO-HC-3016
( Intermediate Microeconomics—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
SoR 2PN T fud

(a) What is cardinal utility?
RIS Socafana 1 2

(b) State one assumption of utility analysis.

Seiarel fRessaR 9o gRaT fordn |
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What is production function?

Teomr o & 2

Define income effect.

o Remet wge fawm |

What is marginal rate of substitution?

AfSTee oifes 3 Jfereat & = 2

What is the shape of indifference curve in
case of perfect substitutes?

9f R SWAR cvge s QIR Ol
FEFNTI?

Define expansion path.
SRR *1% X ol |

What is meant by inter-temporal choice?

SRS R WA & I 2

Define opportunity cost.
e R g fan o

State the concept of ‘shut-down point’ of
a firm.

9ol ASIFR BeAATA-IF R’ 4R Bead
0
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2. Write short answers of the following
questions : 2x5=10

T 2PARR 5 Tl fian

(a) What i1s meant by budget space or set?

CEG T A0S e B q@m 2

(b) Distinguish between gross demand and
net demand.

o BRI S WA B A& ALy Hfs 41 |

(c) State the two conditions of consumer’s
equilibrium under indifference curve
approach.

fere @ RerTe creR SRR 58 100
TEY 41

(d) Distinguish between explicit cost and
implicit cost.

S T HE AP T e 21T feran o

(e) State the concept of optimum firm.
I ARSBHR 4RIMCO! S 41 |
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3. Answer the following questions (any four) :
5x4=20

TR I B frm (R e wifdod) -

(a) With the help of indifference curves,
distinguish between normal goods and
inferior goods.

fecere @R e yefis mE W A3
AR T NI Refy 341 4

(b) Explain the concepts risk averter, risk
lover and risk neutral individuals.

D SRS, I SECRI WF =1F [AI0ers
IS g [T F]90 1

(c) Briefly explain the concept of returns
to scale.

oM AR ARSI YRNCHT FLF I 37 |

(d) Briefly state the characteristics of
perfectly competitive market.

o fScaiTerEe wEa (AFEPR ST o |

(e) Explain how a consumer can reduce risk.

TATSIBIZ (FCALS 5T IR AR, [ 347
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() Derive average fixed cost curve from total
fixed cost curve.
P B3 W QAR 79 T TR IW Q@ W3
¥q0 1
4. Answer the following questions : 10x4=40

Tefd PR Tag fra

(a)

(b)
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Define indifference curve. Explain their
properties. 2+8=10
faeers @R e forn | TR PR

E Il

Or / 7F

Critically discuss the law of variable
proportion. 10

AT SerS  REOT ARSI
SCATOAT 34T |

What is least cost combination of inputs?
Discuss how least cost combination of
inputs is attained with the help of
isoquant and isocost lines. 10

FHSR I AL {$ 2 -T2
Y-/ AR FIES (I PHOX IR AT
S T W, W01 F47 |
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Explain inter-temporal choice of a
consumer with the help of a diagram. 10
TACSISR (SR BT IR R o
KISIRSHE ST

Explain short-run equilibrium of a firm
under perfect competition. 10
o efetaforere vie ofoPia ZFIES @A
Sl &S ¢, WA ]9 |

Or / 7

What are isoquants? Show the
increasing, constant and decreasing
returns to scale with the help of
isoquants. 1+3+3+3=10
T-Beome (@ 52 SW-Beomm RAR =S
FIEIH, S HF TARPEE S a1
sffer= s |

Define substitution effect. Explain
Slutsky substitution effect with the help
of diagram. 2+8=10

afess Rt sm w1 Ao afses Ry
foa@ =R W
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Explain the concepts of total fixed cost,
total variable cost and total cost. How are

they related to each other? Explain.
2+2+2+4=10

P R I, T RS I SF P IR QR
T I | GTYR I o A A4 |
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